1. Which of the following choices refer to a process by which individuals and groups are
ranked in a more or less enduring hierarchy of status ?

(1) Stratification (2) Caste
(3) Class (4) Differentiation
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2. Which of the following is not true about AGIL, as explained by Parsons ?
(1) Adaptation - A system must cope with external situational exigencies.
(2) Goal attainment — A system must define and achieve its primary goals
(3) Integration— A systen: must regulate the interrelationship of its Eomponent parts.
(4) Latency - A system must maintain its goals
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3. Who among the following believed that empirical tests and not theoretical assertions

are crucial to functional analysis ?

(1) T.Parsons ~ (2) R.K.Merton

(3) R.Brown (4) L.Strauss
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8. According to Durkheim, social facts must be studied :
(1) Empirically but not philosophically
(2) Philosophically but not empirically
(3) Both empirically and philosophically
(4) Empiricaiiy, phiiosophically and scientifically
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9. Which of the following is not a necessary stage for inductive strategy/logic of
inquiry ?

(1) All facts are observed and recorded without selection or guesses.
(2) Generalisations are drawn from the relations between the facts.
(3) Generalisations are tested by making use of hypothesis.

(4) Researcher must begin by setting aside all preccnceptions about how the world
works.
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11.
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Which of the following logic of inquiry is based on the idea that "aim of science is to
try to refute the tentativetheories that have been pronosed’ ?

(1) Inductive (2) Deductive
(3) Reproductive (4) Bothincuctive and deductive
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According tﬁ Weber, sociologists had an advantage over the natﬁral scientists because
sociologists' have the ability to:

(1) Apply classifications (2) Apply verstehen

(3) Apply rationalism (4) Apply iceal type
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An observation, uninfluer:ced by personal bias is said to be :
(1) Functional ' (2) Critical

(3) Subjective (4) Objective
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13. The most important feature of a good sample is .............. X
(1) Small size ; (2) Big size

(3) Representativeness (4) Easy to collect
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14. The questionnaire method is not applicable if .............. ;

(1) Sample size is big

(2) Respondents are illiterate

(3) Respondents are heterogeneous
(4) Sample size is small
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13. The purpose of a survey iz .............. .
(1) An in-depth study of social phenomenon
(2) Extensive coverage of population for data collection
(3) Testing of a theory

(4) Establishing casual link between variables
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16. Field study is related to: .
(1) Real life situations
(2) Laboratory situations
(3) Every situation where research is conducted
(4) All of the above
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17. Which of the following terms will define best to a study that gives information that
the per capita income of a state increased four times between 1940 to 1990 ?

(1) Horizontal study
(2) Longitudinal study
(3) Statistical study

(4) Economic study
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18. Which of the following is a non-probability sampling ?
(1) Simple random sampting
(2) Quota sampling
(3) Purposive sampling
(4) Both (2) and (3)
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19. The type of qualitative research that describes the culture of a group of people is
called :

(1) Phenomenology
(2) Grounded theory
(3) Ethnography

(4) Case study
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20. If the variables are varying in the opposite direction, it is called ...............
(1) Positive correlation

(2) Negative correlation

(3) Linear correlation

(4) None of the above
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21. Which of the following statistical calculations can't get influenced by individual
extreme values ? '

(1) Median | (2) Average

(3) Mean (4) None of the above
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